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Instructions: 1. Check the question paper for fairness of printing. If there is any lack of fairness, inform the Hall

Supervisor immediately. 2. Use Blue or Black ink to write and underline and pencil to draw diagrams.

SECTION - X
Note: i) * Answer all the questions.
ii) Choose the most suitable answer from the given four alternatives and
write the option code and the corresponding answer. 20x1=20
| 4318 . 20 15|
1) If }3 1| = -5 then the value of i5. 59 is
a) ~125 s b) -5 c) 0 d) -25
2) IfAand B non- -singular matrix then, which of the following is incorrect?
a At =T=A1=A By TEE ¥ c)IfAX =Bthen X =B1A
d) If A is square matrix of order 3 then |adj A| = |A]?
3) If A is square matrix of order 3 then |[KA| is
. a) K3A| b)Y =K? Al c) K |A] : d) -K |A]
' o3 4 '
4) The value of 198 14 28 is
o S
a)o b) 15 c) 14 d) -7
5) The Vaige OF G OEJEEESE - SCAMMBC. .+ 5C.) + (5C, + 5C)) +(5C, + 5C,)is
' a)y26-2 D e D ————
6) The last term in the expansion of (3 ++2)8 is
a) 81 S 16 c) 842 oad) 2 F
foe. - 4 1 : '
7) If (x+4)(2x_1)=x+4+2x_lthenkiseq_ual to :
a) 11 b) 5 5o il o
8) If 42C, = 42C__, then the value of ris : :
a) 3 b) 13 c) 42 s @y2L
9) The equation of the circle with centre (3, -4) and touches the x - axis is
a)y(x-3)72 +(y-42=4 b) (x-3)* + (y-4) =
c) (x-3)2+ (y+4)=16 ' d)x? + y2 =16
10) The length of the tangent from (4, 5) to the circle x* + y? = 16 is
a) 16 b)4 i d) 25
11) Length of the latus rectum of the parabola y? = -25X
i a) 25 b) -5 c) 5 d)-25
12) The locus of the point P which moves such tiat P is always at equidistance from

theline3x + 2y +5=0is : .
a)3x-2y+7=0 b)3x+2y+8=0¢)3x-y+2=0 d)2x+3y+5=0"
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X9 + ag <
29) If Lim = Lim (x + 6) find the values of a.
x—a X+a X3
30) f={(1,1), (2, 5)} be a function described by the formula f(x) = ax + b. Determine
' aandb.
SECTION -III
Note : Answer any 7 questions. Q.No. 40 is Compulsory. 7x3=21

3 7 6 8]
31) If A= [2 SJ and B = [7 9J then verify that (AB)* = B! A1

32) The technology matrix of an economic system of two industries is [gig ggg]
Test whether the system is viable as per Hawkins - Simon conditions.
33) In how many ways can a cricket team-of 11 players be chosen out of a batch of
15 players?
i) There is no restriction on the selection
i) A Particular player is always chosen iii) A Particular player is never chosen
34) Find the rank of the word "HOPE" in dictionary. :
35) If the lines 3x - 5y - 11 = 0, 5x + 3y - 7 = 0 and x + ky = 0 are concurrent, find
the value of k.
36) -The slope of one of the straight lines ax? + 2hxy + i:oy'2 = 0 is twice that of the
" “Othershew-that.8h2.= 9ab.
37) Iftana =1/3 and tan g = 1/7 then prove that (Za + [3) = ﬂ/4

o ala'=
38) Prove that (cos « - cos $)? + (sina - sin )2 = 4sm2[ > B]
39) If f(x) = E{—i then prove that f(f(x)) = x
Ay : . .
40) Find a;pf the following functions x = log t, y = sin t.

_ SECTION -1V
Note : Answer all the questions. ' 7x5=35
41) The cost of 4kg onion, 3kg wheat and 2kg rice is Rs.320, The cost of 2kg onion,
4kg wheat and 6kg rice is Rs. 560, The cost of 6kg onion, 2kg wheat and 3kg rice
is Rs. 380. Find the cost of each item per kg. by matrix inversion method.
| (OR) '

Suppose the inter - mdustry flow of the product of tw sectors X and Y are given
as under:






